
~ 9510 
'tf _ 9513X 

, - 9510Gopt. 
9510 , 9510R opt. 
9513X , 9510T opt. ' 
9510G opt ~ 9510X opt ]'.._I 
95100 opl )'2 
9510Topl I '9:j' 
9510Xopl , 

: I I 

I 

See Parts list for a complete 
listing of optional accessories. 

V 

9513X 
9514 

' I 

11: 2584 
: /_j I 3x12CS 

1 2584 ' !i 3x12 CS , 
I r 2584 
~ 3x12CS 

9511-BLUE 
9511-GRN 
9511 -0RNG 
9511-RE0 
9511 opl 
9511-PR0opl 

,2584 

1

3x12CS 

n 

!a 
1 2584 IJ 3x12 CS 

Speciftc.ations on this page are sub;ect tochangewrthout n<1tke. Every attempt has been made to emu re 
the acrura<:y of this drawing: however, Tra}C)(as cannot be held responsible f°' typographical or other errOfS. 

Body Assembly 

Completed Assembly 

REV 240228-ROO 



E:-~!r==l:·E ~· 
Chassis Assembly 

I 

5811 
9590 

95811 
1552 
3,c8 CS 

' 
~ ' 9590 I _,,,,, 

'i! ' , I ·-,J _ _,,,,,-
J, /, 

V 

V 

2586 l' 
3x15 CS U 

1 
fl 2586 

I 

3x15CS 

9556 
9556Xopt. 

9624 24 
2577 

3x10BCS 

9624 
7/ 2581 
1J 3ic25 BCS 

,,,,,,--' 

9586 0 

9586...Jv 

~ 4889)( 
10x19x588 

9625 

9624 
2577 
3x10 BCS 

0 1726 
4859 

3x10FCS 

1726 3 
• 1748 

1
, 
' 

2579u 
3x158CS ! 

' [,.,, 
✓-

1748 
M4x0.7HI. 

0 

I 

1748: I 
I 

M4x~!Nl ,

1 

I 
12579 
•3x15 BCS 

J y ', 

See Parts list for a complete 
listingofoprional accessories. 

REV 240228-R00 
Specifications on this page ate subject to change without notice. Every attempt has been made to ensure 

the accuracy of this drawing; howev«, Traxx,u cannot be held responsible for typographkal Of other errors. 



Front Assembly 
25981( 
4x30 BCS 

✓ '1 
~,; : 

2584 
3x12 CS 

3933 c:ii'r 4x168CS ff 

9588 I 1, 
3x16SS ' ...... ) .... 

See Parts List for a complete 
listing of optional a<cessories. 

Shock Assembly 

9664 9662 
9664Aopt ~ M2.5x0.45Nl 
9664Gopt. ,--f 9664Ropt. I 7 
96G4Topt. I_.:::,_) 1 • • 

9664X o I. I 
8962 , 

8965X 9665)( I • 

8965G 9665G I Ill!, 
896511 9665R j 8965T 9665T 

~:•ti (rear) ~ ,

1 

,,,, J 
8968A opl ~ ....,, 

8962 

8968R opt. 8966 8963T opt. 
8968X opt. 8967 opt. I (fronQ 
8968G opt. I ' I 8963 

8969 opt. 
9662 

(front) ; 9662T opt. 
9659 ' I (rear) 

9657 opt. ·-~ 8962 
9658opt. 12.5~14 9664 

Chamfer 
faces down 

2744X9 
M3x0.5 HI. 

(rear) cs 
l_ I ~ 

··....J 18963 

9626 

5105 
6xt0x3BBQ = 

105 

I . 6,10x3 88 9545 
-._ t3.2x18x05 MW ~t~~ p \s,Yl(s,a,nlesst 9545T B 2 13.2;:x0.5 PlW 9545A opl 

/ ~r16mmHEJ< 
9525-----

9525-GRN 
9525-0RNG 

9525-RED 
9525-<lRAY opt. 



• iT Ji' 2596 
~ V 4x25 BCS 

1748 
9521 - M4x0.7 NL 

2553 
3,15 CCS 

8654 
8654A 
8654G ~ 8654R n 5118A 

I 9521 
' 

~ ' 

I 

" " 2581X 
3x25~ 
ff. 

..._____ 9548 

1 

" 

8654-GRAYopl ".)--_l 8x(b16~x5B8 9552 .,.-,·· 
9567 op1.- '®l- ,• 

, • 4889X 
2524 10x19x5 BB 9548 

2 5x8 CCS 'f/)._ 9554 
\,, 

' ~ ~opl. 

·~ 2524 
~ 2.s,8ccs 

9634 
9634Gopl 

'i,,-~ ---t9634R opl. 
9634Topl / 
9634X QJ>I. 

254sA 
4'15CCS 

Specifications on this page are subject lo change 'Mthoul notice, Evwy attempt has been made to ensu,e the 
accuracy of this drawing; however, Trax,cas cannot be held responsible for typographical ot other errors. 

fa 

2744X Cl 
M3x0.5Nt. 

" ' .> 
/ 

/ 
3933 

,:_p,.,BCS 
• 1748 

, ~ M4,0.7NL 

- 9548 

"" 

9517 
17A opl. 
17G opl 
17Ropl. 
7T opt 

t 

~7;! =1:·E~· 
Rear Assembly 

9573 
9573A opt 

9571 

' rt) 
7758 

7758G 
775811 
7758T 

7758Aopt. 

REV 240228-ROO 
See Parts List for a complete 

listing of optional acces~ies. 


	95096-4_sledge_exploded_views_240228_95076-4_body_assembly
	95096-4_sledge_exploded_views_240228_95076-4_chassis_assembly
	95096-4_sledge_exploded_views_240228_95076-4_front_assembly
	95096-4_sledge_exploded_views_240228_95076-4_rear_assembly

